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An inflated spherical balloon has a
radius of 7 feet. Assume the balloon
is leaking air at a steady rate of 26
cubic feet per minute. How long will
it take to deflate the balloon
completely?

Ud Gl gU TMdGR [ER Bl
Broar 7 ol 21 99 o & (@R 9
26 T Wi ufd fiFe @) Rer v 4
gql &I RErd gl &1 8 | TR &l g
ave 9 faerq ¥ feasr g9a a9?

(a) Approximately 47 minutes

(b) Approximately 25 minutes

(icl % qq. \,[tf Approximately 55 minutes
. (d) Approximately 35 minutes



Kalyan buys an article at a
discount of 20%. At what
percentage above the cost price
should he sell it to make a profit of
25% over the original list price?

BT 20% I B W Tdh d¥
Giiedl 21 d gdl Jed W) 25% Pl
aM HAM @ foy SS9 38 ANTd Hed
q4 fead ufaea e @ d=n

qTeq?
(a) 46.25% um{e.zs% @)

(c) 66.25%  (d) 76.25%



A manufacturer purchases 20,600
units of a product at $1 each,
15660 at $1.15 each, and 5680 at
$2 each. Using these units as weight
and the total number of units as the

Q)f—,qqs-'”o sum of all weights, find the
I l’l weighted average cost per unit.
O te ftar fedfl S @1 20,000

SHI3Al U $1 W, 15,000 SHISATN

. $1.15 YA®d U, IHIX 5000 SHISAl

/H, (a) $1.81 per unit Udd $2 R @iedr 8| 39 sHIgAl
Bl 999 @ ©U H AR gHA D
»zﬂchr

(b} BL28 por mntt &l AT Bl GHI IRT & 1T S BU
(¢) $1.82 per unit ¥ gy ged gy, WY g@T WRA
$1.18 per unit IfjHd AT AT B |




If a merchant offers a discount of
20% on the list price, she makes a
loss of 12%. What percentage profit
or loss will she make if she sells at a
discount of 10% of the list price?

gfe @iy AUl g4l 4e8 W 20%
&I BT <dl =, d SU 12% @I &I

gidl 21 af 98 YA 49 9 10%
B¢ W d9dl & df 99 fdad ufaera

ok | I A i

AT 1% loss (b) 2% loss
(C) 1% pl‘ﬁﬁt (d) 2% pl‘Ofit
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Raju adds 3 litres of water to 12
litres of milk in a bucket, and in

another bucket he adds 4 litres of

water to 10 litres of milk. What is
the ratio of milk in both the

buckets? @M bq.cwj

W9 U dlec] ¥ 12 ofley g9 4 3
oflex Uil Stsdr 2, iR gEd drec]
4 98 10 ofley g d 4 oflex urfl

disdr &1 &I9l difecdl # g9 @I
JUTd 4T =7 ®
Vu(zs:zs (b) 25 : 26

(c)25:28  (d)26:25



(a) Rs. 9,720 (b) Rs. 9,180

Sudama purchased an item costing
Rs. 12,000 and paid Rs. 3,000 as a
down payment for the same. If the
simple interest charged for the

remaining amount is 6% per annum
and Sudama cleared all dues after 3

months of the purchase, how much
did Sudama pay after 3 months?

e d 12,000 $. &I ARTd dlcf]
Udh 9% @dl| 3R U oy sre+
Uie & W9 ¥ 3,000 B. BT A
far| afe oty R ) wERe «arw
6% ufaad 2 X Yarm 4 @l @ 3
7E4 9wl 9srr gar feg, i
gerr 4 3 ®wgH 49rq fdaar HraE

(c) Rs. 9,540 y{rvzs 9,135  fpay?
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X, Y and Z run around a circular
track of length 800 m at speeds of
18, 36 and 54 km/h, respectively. If
they started at the same time from
the same point and run in the same
direction, when will they meet for

the first time?

X, Y 3R Z HH9: 18, 36 3R 54
fodt /ger & wfa |4 800 Hiex o«
Udh TMddR od & dRI 3MX glsd
g afc @ e & v W s @ fig
4 v d 3R s Bl fewm H A,

dl 94 ugell IR &9 AdA71?
(a) 140 sec (b) 130 sec @

([c}#60 sec  (d) 150 sec



Express 0.35624 +0.71248 as a

vulgar fraction.

ar - () -
2 4
(c) 5 (d) 5
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A car takes 18 seconds to reach
from the 15t pole to 10t pole, which
are equidistant from each other. If
the speed of the car is 72 km/h
(uniform speed), then th¢ distance
between any two consecytive poles

is: LW/

Udh HIR Hl Uscl @H 9 10d @H dd
ygad d 18 AHe old =, ol Ud
TR 9 99 ) W 2| I dR D)
wfa 72 el /ger (@am= wfa) 2, i
fo=gl 1 AR @Hl @& 49 31 g
a:
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A train travels at a speed of 120
km/h for 25 minuts, 250 km at a
speed of 100 km/h, and covers

another distance of 640 km in 5
hours. What is its average speed (in

km/h, to the nearest tens) for the
entire journey?

Us ¢d 25 fiAe @& fau 120
fedfYy /ger &1 wfd 9 Fadr 8, 100
foddY /ger &) fa 9 250 fodt T
2, 3l 5 < # 640 fHh @t & au
&l 21 QX AT D QIRA SHDI
stwa wfa (fpf /ger &, fdean
GBS ddb) T 27

(a) 100 @ (b) 130
AE) 120 (d) 110



Sanjay earns an average of Rs.
42,000 for the first 11 months of
he year. If he wants to maintain

the gonthly average for the year to
be Rs. 000, then what is the
amount he need to earn in the last

month to achieve the required
average for the whole year?

goig 3Edd 42,000 . HAM 2,
9Tl @ Ugdl 11 #WaEl & fag | afe
gg 98 @ fov #1RI® 3itad 50,000
%. §91¢ YQAT drgdl 2 | d YR 9§ @
fore amasas Itad W &A@ forg
Sd Ifow wd A fea wfdr afSma
B DI ATIIADAT &2

33 Rs. 1,38,000 (c) Rs. 1,28,000

(b) Rs. 88,000 (d) Rs. 1,18,000




When two armies clashed in battle,
the n in the two armies were in a
10 :Qratiu. Their losses were 20 : 3
and the survivors were

l ,5 respectively.
number of _so
Q‘ army if t i
.-5‘;|YW‘M .w_er-324,000.

QO % / od qf 990 g W fredr off, ai

- - <9 |9 4 ¥ 10 1 3 @
quw 0D Iqura ¥ B o | SHd 'Y B
—_— - 20 : 3 2ff 3R 99 Y oI HHA: 40 :

13 of| Ife &1 J491 & Sfifaa €4
30"‘*)2\{00061“ 24,000 o d B |/ A
A sl S Yo &1 F1d S|

a——) 8%00 (a) 8200 (b) 7900

(c) 8000 i) 8400
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A shopkeeper uses a weight of 450
g instead of 500 gm and sells the
articles at the marked price which is
15% above the cost price. What is
the gain percentage?

Udh GdHMGR 500 UTH & 9ol 450
Y qoF ®I SUAIT HRal & 3R
g3l Bl Afdbd Jea R d9ar & ol
And Hod 9 15% 3fe & o
yfaera @am 87?

(a) 287 % (b) 25 %
9 9
7 7

(€) 245% 27 %



/'éIs%: g o
y: S AR
A_ % L)‘{s. 720, Rs. 900

(b) Rs. 720, Rs. 950
(c) Rs. 920, Rs. 720
(d) Rs. 900, Rs. 720

X, Y and Z are partners in a
business. X, whose money has been
used for 5 months, claims 1/6 of

the profit. Y, whose money has been
used for 6 months, claims 1/4 of
the prnﬁt.@ had invested Rs. 1,575
for 8 mnnths){nw much money did
X and Y contribute, respectively?

X, Y IR Z U Fadard d AFNER
g2l X S 91 5 wEH 9@
)&h‘hll{'l far a1 8, @™ @1 1/6

qIdT &xdl & | Y, et 41 6 #giH

déd ST fHar a1 8, &t &1 1 /4
Qrar &Ydl 81 Z A 1,575 ¥UA Bl
a9 foar o 8 w81 @ forv| X 3R
Y 9 H99: fHad 99 &1 AiMSH
fear?




Rita k a loan from Sandhya for
. 4,800. phe promised Sandhya
that shie would repay the loan in two

equal payments annually. Find the
amount of each instalment if the

interest rate is 5% per year

compounded annually.
a1 3 gear 9 4.800 ¥Ud HT T

ferar) <94 wear | aqrer fear @
48 Wl Q §RE} qIdiE d Rl
o1l | afe & ) ufa a¥ 5%
afte w9 | waifora gdt &l

ad® foed o ¥ sid & |
(a) Rs. 2,683.52 \..(.erﬁs. 2,581.46

(b) Rs. 2,640 (d) Rs. 2,500




A contractor hires S to complete a
work. S can do the work in 25 days.
S works for 5 days and after that T
completes it in 16 days. In how
many days can S and T together
finish the work?

U6 SheR fedl & & @ & D
fT 8 & &M W Wgdr 21 S SS9
& & 25 AT § qRT R Gdar 2 |
S, 5 feil & &l &¥ar 2 3R SuD

9 T 99 16 &=l & qRT a1 21 S
R T faar & &I fhad faar o
YT &R Hdhd 87

(a) 105/7 days {9}1/00/9 days

(c) 95/6 days (d) 99/8 days



Rita travels the first 220 km at 72
km/h and the next 220 km at 80
km/h. The average speed for the
first 440 km of the travelling is:

AJar ggd 220 feft @Y I=m 72
fodl /eger @ wfa | 3R 3T 220
fedt &1 Ir=r 80 fHHl /ger &1 wia
9 &l 21 AT D UsA 440 fof

@ 3tad T e
ﬂkm/h ®) 2225 xm /1
19 19
1452 1418

"% gkm/h (d) =——" km /h
9 g AN J



6M A and B run a race of 4000 m.
N> First, A gives B a head start of 400
m and still beats B by 1 minute.
Next, A gives B a head start of 6
minutes but now A is beaten by

2000 m. Find the time in minutes in

e —
which A and B: can run the race
'ﬁ
separately.

D"Hwo %W‘EPK A TR B 7 4000 Mex &) et oS |
-5'4’ 99 Usod, A, B @& 400 Hiex @)
ded adl © 3 B # B &1 1 fA+e
| B odl 2| S 91, A, B &l 6
ffife @1 d¢d <qdr & ofed 3@ A
2000 Hex ¥ B8R wiar 21 el #@
- 9y Sd Sifvie foad A 3R B,
—3TITT SIS o1 Hahd B |

(4B and 10  (b) 9 and 10

(c) 10 and 8 (d) 10 and 9




The ratio of the differences
between simple interest and
compound interest for three years
and two years, respectively, is 31 :
10 for a sum of amount. The rate of
interest is:

fosft <R @& forg 9 adf &k < 9
® fov D99 9ERYT &G 3R

ahqfg & @ 49 AdR ST U
31 :10 8| &9 X &:

(a) 21% (b) 3.1%

(c) 15% ar10%
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X, Y and Z start running at the
same time and at the same point in
the same direction in a circular
stadium. X completes a round in 20
minutes, Y in 40 minutes and Z in
30 minutes. After what time will
they meet again at the starting
point?

X, Y 3R z s MaeR wfeaqa
Udh B 99 AR o B g W a2l
foem o <lssm v &xd 21 X, 20
e 9, Y 40 fii9ie 9 3R 2 30 fiAc

q U g@} Q1 HRal 2| fhas @ug

9rc 4 g IRfAe g . fad?

(a) 1 hour

(b) 2
2 hours

(d) 1 hour 30 minutes

1ours 30 minutes



The value of

__1___1_21__1__.1 |+ 101‘41]
4 21 2 4 6) 2 3

3}~+
4

1

is:

\/fﬂﬁ (b) 42

(c) 24 (d) 48

G




SrvoX oYX9$ X 9o

AT 2446
)@) 4476

xbp 4486
)@) 4456

. In the month of February, the
traffic police caught 5000 license-
less bike riders. In March, the
number is increased by 4%. On
constant inspection by the the
police and number reduced by 5% in
April and it further reduced by 10%
in May. The total number of license-
less bike riders in the month of May
was:

HRadl AE H ¢fbd gferm - 5000
fom <rsdY ds® ddr 9l @l
Uhsl. A1 ¥ g =T 4% de) 2 |
gferd g1 amaR FEer e w®
IV H AT 5% HH Bl TS 3N IS
d I8 10% 69 &8 TS| Hs HIE H
f=r Iz 913% 9dE 9l @ G
T oA



In an election, two candidates
were contesting. It is found that
82% of the voters cast their votes,

Wo K

w L out of which 4% of the votes were

declared invalid. ) The winning
(o Y5 b candidate—got 11808 votes, which
N—>" were 60% of the to otes. If

M- M is the margin with which the
€ —5|180¢ winner got elected and L is the

D — number of votes of the losing
candidate, then the value of S3M - L
. e e,

1S.

Uh g9 H 3l SHIedR g9 oS
W A I§ g o fF 82%
AaqraRi 1 dle erd, oeH 9 4%
aic sy wiffa fed | faorf




SHfIgaR ®1 11808 dic firdd, ol &
de dicl &1 60% 9. Ife M 98 R
2 foraa wrr fasiar fraffaa gam &k
L 8R4 ddd SFficaR @ diel @)
W& &, d 3M-L & A @

(a) 3576 ‘/.mﬁss

(c) 3456 (d) 3278




Let p denote the greatest 4-digit
number which when divided by 2, 3
4, 5 and 6, leaves remainders ld
3, 4 and 5, respectively. The sum of

the four digits of p is:
: A ofifSit P 999 d€1 43D
<> e &l qundr & ford 2, 3, 4, 5
3R 6 9 faurforg &1 W H9I: 1, 2,
3, 4 3R 5 Y 99dT 8| p ® R
bl BT I 2
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Raju bought a camera and paid 25
percent less than its price. He sold
it at 40 percent profit on the price
he had paid. The percentage of
profit earned by Raju on the original
price was:

Ao 4 U DA TGl AR IUDI
@Hd 9 25 Ufderd &H HIraE feary
S 30 o g g@rd T A
R 40 ufderd @™ WX 949 far| qq

DA UX o[ gRT 3AfTd M &I
gfererd om:

«~{1) 5 percent (b) 3 percent
(c) 9 percent (d) 7 percent



. In a year, a man spent 45% of his
income on food. 20% of the

remaining amount was spent on

|1{ ” LILI travel and garments. 60% of the
amount now left was spent on

/ miscellaneous items, and the

remaining amount of Rs. 78,320 was

. deposited in the bank. His monthly
@33\0 income was:
[N— b af ¥ e aredl AN I B0
45% o9 U @d dYar 8 | A9 i
& 20% AT AR FUsl W @d foar
(@) Rs. 7,29,800 1oy | o wht & Wi @7 60% fafdw
(b) Rs_ 2,40,000 3ot wr wd fan mn, ik 9w il
_Is) Rs. 4,45,000 78320 & d% ¥ AT fHy )
(d) Rs. 6,83,000 HIR(d 3mg oft:



The average of ten numbers is 49,
The average of the last four numbers

is 45 and that of the first three
numbers is 52. The fourth number is
4 less than the fifth and 9 more
than the sixth number. The average

of the fourth and sixth number is:

o9 &R B1 tad 49 @ | 3ifaH
IR AEI13N BT AAd 45 © AR YAl
9 Gl &1 sitad 52 2 4refl
A&7 Uigdl 9 4 &9 3R B3l =T
a4 9 3ftre tefl 3k vl =
&1 3t

_A[38.5 b) 50.5

(c) 45.5 (d) 54.5



(a) 6.4 percent (b) 6.8 percent

M percent (d) 4.2 percent

) percent of the people eligible to

;-* are between 18 and 21 years of

age. In an election, 80 percent of
ose eligible to vote, who were

A
etween 18 and 21, actually voted.

In that election, the number of
persons between 18 and 21, who
actually voted, was what percentage

of those_ gligible to vote?
dic a9 @ II7g 10 ufaera «r 18 4@

21 9§ @Y I ® 9 T H gI@
¥, glc 4 @ U oI ¥ 9 80
gfaera, 9o 59 18 ° 21 @ «4
off, ¥ aad ® ¥Hag fear| S9
g9 4, 18 ¥4 21 94 @& d9 @
Fgfpal @1 g, sl g #@
qaarF fear &1, gdgE &1 Iy
i &1 feaar ufaera oar?
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One-third of a certain journey is
covered at the speed of 25 km/h,
one-fourth at the speed of 30 km/h,
and the rest at the speed of 50
km/h. The average speed for the
whole journey is:

v Aif¥=a arar &1 ve—fasrs e
25 fodl /g1 @) 7o |, ve—dalars
30 foft /ger &) wfad | @R 99 50
fofy /ger &) wfa 9 ax fear Sran
g | @& g1 & ferg sitaa wfa :

(a) 115 km/h (b) 5SS km/h

w{sé km/h (d) 37% km/h



The ratio of the total amount
distributed among all the males and
females as salary is_6 : S. The ratio

of the salary of each male and
female is 2 :_ 3. Find the ratio of the

number of males and females.
e ——

! goul 3R Afgenan & 49 das
& Wy 4 fqalRa @ ¥ &1 Fgurd
6:5 2 | UAP YoV AR Afgar & daA
&1 U 2:3 = | goul AR A
&1 &A1 BT IUTd AT DI |
(a)4:9 (b) 5:9

\/(44:5 (d) 9 : 4






